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Please make sure that the printed pages in this question paper of Part-II are 16 in
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examination.
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General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(2) 209
(i) 797 F% 1 § 40 7% FeGT 597 &) FAF 497 1 7% F &

Questions from 1 to 40 are objective type questions. Each question is of 1

mark.
1. ST S0 T UG & coveeeennnn. FeT ol (artt &= ) 1
Ernest Dale has called Management as a ................ . (Fill in the blanks)
2. T TH verrvnrnnnnnns fasm R (Tl = W)
Managementis a ................ Science. (Fill in the blanks)
3. WY % fhg WR W TH<Y AT € ? 1
(A) = &R (B) He&EH &)
(C) == &N (D) & &N

The coordination is required at which level of management ?

(A) Lower level (B) Middle level
(C) Higher level (D) All levels
4. 9G¥ wid e HY &R AW 8 7 1
(A) dTBodRodlo
(B) STRodEOTHO
(C) TodNEoTHoTo

(D) SMEoHlodEoHlod o

209/ 1l



(3)

Name of management association established in India :

(A) 1T (B) IM
(C) AIMA (D) ICICI
5. RS oo BT B
(A)  qrEget (B) @&
(C) 3o (D) ST Hig T
Planning is .............. .
(A) Flexible (B) Permanent
(C) Rigid (D) None of these
6. FE=T UGG H oo w1 B
(A)  wH (B) fadi=
(C) T (D) =
Controlling is the .............. function of management.
(A) First (B) Second
(C) Third (D) Last
7. YR
(A) TH el B) f=m
(C) T q [ (D) TTH ®§ Fiz Tl
Management is :
(A) An Art (B) A Science
(C) Both Art and Science (D) None of these
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8.

9.

209/ 1l

=it T &6 wE B

(A) S WX T+ B

(B) WeA & WSl &

(C) HREHR W Ty

(D) Sue @l

Policy formation is the function of :
(A) Top level managers

(B) Middle level managers

(C) Operational management

(D) All of the above

Y & dlee RSl & e B § 7

(A) Tho T&Ho WX (B) B &I

(©) o & (D) T HIg TE
Who is the father of 14 principles of management ?

(A) F.W. Taylor (B) Henry Fayol

(C) G. Terry (D) None
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10.

11.

12.

209/11

(5)
IR | fehERl I A A B 7

Taylor said to standardized :
(A) Goods

(B) Machine and Tools
(C) Methods

(D) All of the above
TS T+ 7 a1 9 & ?

(A) =W (B) wA

(€) (D) T & g T
Who is the father of Administrative Management ?

(A) Taylor (B) Fayol

(C) Both (D) None of these

A i @ @l S b &l ?
(A) BA (B) I
(C) B=H (D) = & g &

209

P.T.0O.



13.

14.

15.

209/ 1l

(6) 209

Who said about bringing mental revolution ?

(A) Fayol (B) Taylor

(C) Haimann (D) None of these

“FrE™ § fRe O 791 R1” 98 FF fRE YR @ e 9 gied © 1
(A)  FEfR (B) Tl

(C) (D) 9 & &I &

"No smoking in the factory". This statement is related to which type of plan ?

(A) Procedure (B) Methods
(C) Rule (D) None of these

S aee &1 -9 S 8 1
(A) ToH (B) f&im

€ T (D) =gd

Planning is .................. function of management.

(A) First (B) Second

(C) Third (D) Fourth

............. FrEeM & 9] @ 1
(A) @A B) =

(C) yarger (D) Swe @sh



(7)

.............. is the essence of planning.

(A) Organization
(C) Forecasting
16. FENH T ..ooooe..... iE) ]

(A) THEH

(C) STHEHS

Planningisa .............. process.
(A) Timely

(C) Casual

17. =1 § § f9-91 FaoW & a@ 78 ' ?
A) FEH
(©) IR

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

Control

All of the above

Continuous

Annual

HIHH
BRIESERU

Which of the following is not an element of Planning ?

(A) Rule

(C) Objectives

18. {7 qdaus 78 B

Planning is not all pervasive.

209/11

(B)

(D)

Programme

Staffing
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(True/False)
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19.

20.

21.

209/ 1l

(8)
39 G H T R S e v wrifEitE o emeha ©
(A) Sl (B) TS
(C) SRR T (D) ST FE T
Name the organization which is based on rules and procedures.
(A) Formal (B) Informal

(C) Both of the above (D) None of the above

Fr=1 9 @ fooed “HrEl & AevE 787 e ?

(A) SNT=RS He
(B) SRS T
(C) SUHT &l
(D) el & <T@

In which of the following "No overlapping of works" ?
(A) Formal organization

(B) Informal organization

(C) Both of the above

(D) None of these
T IARIAT HT W1 fHam ST Fepall & 7

Can Accountability be delegated ?

209



(9) 209

22. I TEA H TH IqBU N FYE WA F HeAAd B @ 1
() Sfu=RE (B) SRS
(C) Sqe &t (D) ST &g T

Name the organization which is directed by "group norms" ?

(A) Formal (B) Informal
(C) Both of the above (D) None of the above
23. = & @ 3N ARl @ G F Te B BN § ¢ 1
(A)  DHRIFHTT
(B) [eehsiiaent
(C) WY
(D) fafreienTer

Which of the following increases the importance of the role of subordinates ?

(A) Centralization

(B) Decentralization

(C) Delegation of Authority

(D) Specialisation

209/11 P.T.0O.



24.

25.

209/ 1l

(10) 209
U Iod AHN & AN AefRd Al e weand § ¢ 1
(A) EE e
(B) ¥ # &R
(©) o Fra=m
(D) FH & g T
Number of subordinates under a superior is called :
(A) Scalar chain
(B) Span of management
(C) Complete control

(D) None of these

Fr=1 & @ FrgfReT & 0@ $9-a1 & 7 ]
(A)  wd (B) =&
(C) SHarereT (D) SWied qef

Which of the following is an element of staffing ?

(A) Recruitment (B) Selection

(C) Training (D) All of the above



(11) 209
26. Y H FYRRHT & FR B a9l {ERT H AW gy 1

(A) SRS faum
(B) FHHAR fa«m
(C) fauoE fasm

(D) I Tt

Name the department performing staffing function of management :
(A) Production Department

(B) Marketing Department

(C) Personnel Department

(D) None
27. TITTH weveeennennn. ST B (Tl &M W) 1
Selection is @ ................ process. (Fill in the blanks)
28. Wl % RS WG H M © 1
(A)  wERT (B) 3T SR
(C) ] (a) T (b) (D) & & g T

209/11 P.T.0O.



29.

30.

209/ 1l

(12) 209

Internal source of recruitment includes :

(A) Promotion (B) Lay off
(C) Both (a) & (b) (D) None of these

F=1 & | di-a1 fesM § it 787 5 ? 1
(A)  FrESH (B) q=

(C) W@ D) ¥ &

Which of the following is not included in Direction ?

(A) Planning (B) Leadership
(C) Communication (D) All of these

Fr=1 & a-a1 IR-faciig Sicaresy 7ef & 7 1
(A) % G (B) @Y

(C) =g (D) 39 & %13 Tl

Which of the following is not a non-financial incentive ?
(A) Job Security (B) Status
(C) Bonus (D) None of these

................ 3B AT B U (Gt &= )

................ is a quality of a good leader. (Fill in the blanks)



32.

33.

34.

209/11

(13)

1 & g=_yEET & 9reEm Be-ar § 7

(a) e (B) A
(©) Fifed Toq A (D) =R
Which is the media of communication ?

(A) Written (B) Verbal
(C) Written and Verbal (D) Formal

Fret & @ ia-a1 aoveT Siea & O 78 © ¢

(A)  FosEEd (B) T

(C) @=YwErEH (D) sidgfee

Which of the following is not an element of Communication process ?
(A) Encoding (B) Communication

(C) Decoding (D) Feedback

S, BUST T HHM e T I AR & I © 7

(A) FHF (B) IR

(C) YT el I1q (D) HEISTER

Food, clothing and shelter are examples of which types of needs ?
(A) Esteem (B) Physiological

(C) Safety or Security (D) Social
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35.

36.

209/ 1l

(14) 209

1 & ¥ B9-91 e I H e 78 & ? 1
(A) WX (B) HIsTEe
(C) WIT (D) 39 q+fi

Which of the following is not an example of durable product ?

(A) Furniture (B) Mobile
(C) Stationary (D) All of the above

QT M TgE = F @ fre e © 7 1
() Sl YIS

(B) facies Wi

(C) uRaes YR

(D) ST H § HiE TE

Shaving cream is an example of which of the following ?
(A) Primary Packaging

(B) Secondary Packaging

(C) Transportation Packaging

(D) None of the above



37.

38.

39.

40.

209/11

‘o’ 7 & F fhge Se B ?

(A) §U€ (B) ™I

(C) U8 M (D) I8 ¥ Hig 7l
'LUX' is an example of which of the following ?

(A) Brand (B) Branding

(C) Brand Name (D) None of these

Fr=t & | F-a1 fuor freer &1 @ 8 7

(A) e (B) faaw

(C) S (D) SwH |l
Which of the following is an element of marketing mix ?
(A) Promotion (B) Place

(C) Product (D) All of the above

PERT & QU &Y {7

Write full form of PERT.

I TR T A A B AR @ A B e FE ol
(A) I8 FEfA g

(B) & Frs it

(C) = Iei

(D) ST B3 e

209
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(16) 209

Difference between the total of current assets and current liabilities is called

(A) Net Working Capital
(B) Gross Working Capital
(C) Fixed Capital

(D) None of the above

209/ 1l



